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Circular Electron Positron Collider(CEPC): ECM=240GeV
signal samples: MadGraph+Pythia8
simulation:Mokka

reconstruction:Marlin

Direct Smuon Quick sensitivity study
explain mu g-2 excess

Signal samples are produced,for m , = 80,90,100,110,115,119GeV | m g, = 1,10,20,...,(mw -10),(mw -5),(mw -2),(msu -1)GeV

100, 000 Events at each point. e3e3

consider backforunds with final state mumu or tautau. 303
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SR1 SR2 SR3 SR4 SR5 SR6 SR7 SR8 SR9
=2 OS muon
AR(u,recoil) < 3.4 AR(u, recoil) <2.9
Ag(u, 1) >0.1 Ag(u, 1) > 0.35
TGeV <M, <74GeV
21GeV < E, < 39GeV | 39GeV <E, <42GeV 42GeV <E, <68GeV 20GeV < E, <25GeV 25GeV <E, <39GeV
24GeV < p
220GeV <M,
195GeV <M, <220GeV
25GeV <M, <89GeV|100GeV <M, <114GeV 114GeV <M ., <160GeV 160GeV <M., <195GeV
Am > 80 Am =50-70 Am =30-40 Am=10-20 Am <10
(100,10)
(100,50)(119,70/60/50) (100,50)(119,80/90) (100,90) (100,90)
(119,1/10/20/30/40) (119,100) (119,110/115
/117)
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